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Find ik, v1, and the power dissipated by the dependent source.

saln: First, we observe <hot L, Flows +hry all
3 resisters sLnée ‘l:IwE:y are Lh Serced.

Fakher +han zLE-FLnE.hj val—taﬂeﬂ- Jor every
r¢.5'|‘_.5-|:..::1-J we  may use Shm's  \aw -::“rﬁ.j'l:[}y

‘e define  the 'ml-l&:mjez- ag w=L &, Apte
That the + gud — S-ﬂj&ﬂ of Lhe u;::-.h[-qlfe,
MmEAsyramentsd myet d.éa}s Hhe II,.MEFE;L'E Sijn
denyerteed: +he currest aren  mnst peint
Yoward e - sign ef Hhe k-ﬂni’mf Mt S et

Terra Eﬂj 2o y-loop eﬁg.ﬁésf we Aidcaver that
all (eops mass Thrw durrent  Sadrdes, meaduy
we  shoulel aveid writis g Hhese wdoap eghs,
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We new write a  current-gum egh Hfor the
top- denter nede.:

"SLX + BMA t ’tx = OA
e l‘l‘Lx=BmA

or Ly = 2mA

Noew we use a v—loop around. the outside
of the <&ircait o find v =
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The power for the AeFe,nAen‘l: sourde L%
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